
6084 6084.5 6085 6085.5 6086
cyclenum

1−

0.5−

0

0.5

1

al
ph

a1
3_

4e
X

1X
alpha13_4eX1X:cyclenum {run == 6376}

6084 6084.5 6085 6085.5 6086
cyclenum

1.5

2

2.5

3

3.5

al
ph

a4
6_

4e
Y

4a
Y

alpha46_4eY4aY:cyclenum {run == 6376}

6084 6084.5 6085 6085.5 6086
cyclenum

1.5−

1−

0.5−

0

0.5

de
lta

13
_1

2X
4e

X

delta13_12X4eX:cyclenum {run == 6376}

6084 6084.5 6085 6085.5 6086
cyclenum

1−

0.5−

0

0.5

1

de
lta

46
_1

2X
4e

Y

delta46_12X4eY:cyclenum {run == 6376}

6084 6084.5 6085 6085.5 6086
cyclenum

6374

6374.5

6375

6375.5

6376

6376.5

6377

6377.5

6378

ru
n

run:cyclenum {run == 6376}

6084 6084.5 6085 6085.5 6086
cyclenum

0

0.5

1

1.5

2

2.5

3

se
gm

en
t

segment:cyclenum {run == 6376}



6084 6084.5 6085 6085.5 6086
cyclenum

117.5−

117−

116.5−

116−

115.5−us
l_

1X

usl_1X:cyclenum {run == 6376}

6084 6084.5 6085 6085.5 6086
cyclenum

22.5

23

23.5

24

24.5

us
l_

4a
Y

usl_4aY:cyclenum {run == 6376}

6084 6084.5 6085 6085.5 6086
cyclenum

81

81.5

82

82.5

83

us
l_

4e
X

usl_4eX:cyclenum {run == 6376}

6084 6084.5 6085 6085.5 6086
cyclenum

2.2

2.4

2.6

2.8

3

3.2

3.4

3.6

3.8

4

4.2

4.4

us
l_

4e
Y

usl_4eY:cyclenum {run == 6376}

6084 6084.5 6085 6085.5 6086
cyclenum

44−

43.5−

43−

42.5−

42−us
l_

12
X

usl_12X:cyclenum {run == 6376}

6084 6084.5 6085 6085.5 6086
cyclenum

6374

6374.5

6375

6375.5

6376

6376.5

6377

6377.5

6378

ru
n

run:cyclenum {run == 6376}



6084 6084.5 6085 6085.5 6086
cyclenum

162−

161.5−

161−

160.5−

160−us
r_

1X

usr_1X:cyclenum {run == 6376}

6084 6084.5 6085 6085.5 6086
cyclenum

35.6

35.8

36

36.2

36.4

36.6

36.8

37

37.2

37.4

37.6

37.8

us
r_

4a
Y

usr_4aY:cyclenum {run == 6376}

6084 6084.5 6085 6085.5 6086
cyclenum

208.6

208.8

209

209.2

209.4

209.6

209.8

210

210.2

210.4

210.6

210.8

us
r_

4e
X

usr_4eX:cyclenum {run == 6376}

6084 6084.5 6085 6085.5 6086
cyclenum

8.5−

8−

7.5−

7−

6.5−us
r_

4e
Y

usr_4eY:cyclenum {run == 6376}

6084 6084.5 6085 6085.5 6086
cyclenum

47.5−

47−

46.5−

46−

45.5−

us
r_

12
X

usr_12X:cyclenum {run == 6376}

6084 6084.5 6085 6085.5 6086
cyclenum

6374

6374.5

6375

6375.5

6376

6376.5

6377

6377.5

6378

ru
n

run:cyclenum {run == 6376}



6084 6084.5 6085 6085.5 6086
cyclenum

20566.5

20567

20567.5

20568

20568.5

us
l_

co
il1

usl_coil1:cyclenum {run == 6376}

6084 6084.5 6085 6085.5 6086
cyclenum

4183.6

4183.8

4184

4184.2

4184.4

4184.6

4184.8

4185

4185.2

4185.4

4185.6

4185.8

us
l_

co
il3

usl_coil3:cyclenum {run == 6376}

6084 6084.5 6085 6085.5 6086
cyclenum

4765.5

4766

4766.5

4767

4767.5

us
l_

co
il4

usl_coil4:cyclenum {run == 6376}

6084 6084.5 6085 6085.5 6086
cyclenum

1118−

1117.5−

1117−

1116.5−

1116−us
l_

co
il6

usl_coil6:cyclenum {run == 6376}

6084 6084.5 6085 6085.5 6086
cyclenum

17789.5

17790

17790.5

17791

17791.5

us
l_

co
il7

usl_coil7:cyclenum {run == 6376}

6084 6084.5 6085 6085.5 6086
cyclenum

6374

6374.5

6375

6375.5

6376

6376.5

6377

6377.5

6378

ru
n

run:cyclenum {run == 6376}



6084 6084.5 6085 6085.5 6086
cyclenum

19929.8−

19929.6−

19929.4−

19929.2−

19929−

19928.8−

19928.6−

19928.4−

19928.2−

19928−

19927.8−

19927.6−

us
r_

co
il1

usr_coil1:cyclenum {run == 6376}

6084 6084.5 6085 6085.5 6086
cyclenum

3748.5−

3748−

3747.5−

3747−

3746.5−

us
r_

co
il3

usr_coil3:cyclenum {run == 6376}

6084 6084.5 6085 6085.5 6086
cyclenum

5474.2

5474.4

5474.6

5474.8

5475

5475.2

5475.4

5475.6

5475.8

5476

5476.2

5476.4

us
r_

co
il4

usr_coil4:cyclenum {run == 6376}

6084 6084.5 6085 6085.5 6086
cyclenum

739.5−

739−

738.5−

738−

737.5−

us
r_

co
il6

usr_coil6:cyclenum {run == 6376}

6084 6084.5 6085 6085.5 6086
cyclenum

20834.5

20835

20835.5

20836

20836.5

us
r_

co
il7

usr_coil7:cyclenum {run == 6376}

6084 6084.5 6085 6085.5 6086
cyclenum

6374

6374.5

6375

6375.5

6376

6376.5

6377

6377.5

6378

ru
n

run:cyclenum {run == 6376}



6084 6084.5 6085 6085.5 6086
cyclenum

419.5−

419−

418.5−

418−

417.5−

1X
_c

oi
l1

1X_coil1:cyclenum {run == 6376}

6084 6084.5 6085 6085.5 6086
cyclenum

67−

66.5−

66−

65.5−

65−

1X
_c

oi
l3

1X_coil3:cyclenum {run == 6376}

6084 6084.5 6085 6085.5 6086
cyclenum

14.6

14.8

15

15.2

15.4

15.6

15.8

16

16.2

16.4

16.6

16.8

1X
_c

oi
l7

1X_coil7:cyclenum {run == 6376}

6084 6084.5 6085 6085.5 6086
cyclenum

469.8−

469.6−

469.4−

469.2−

469−

468.8−

468.6−

468.4−

468.2−

468−

467.8−

467.6−

4e
X

_c
oi

l1

4eX_coil1:cyclenum {run == 6376}

6084 6084.5 6085 6085.5 6086
cyclenum

88.5−

88−

87.5−

87−

86.5−4e
X

_c
oi

l3

4eX_coil3:cyclenum {run == 6376}

6084 6084.5 6085 6085.5 6086
cyclenum

16

16.5

17

17.5

18

4e
X

_c
oi

l7

4eX_coil7:cyclenum {run == 6376}



6084 6084.5 6085 6085.5 6086
cyclenum

175

175.2

175.4

175.6

175.8

176

176.2

176.4

176.6

176.8

177

177.2

4a
Y

_c
oi

l4

4aY_coil4:cyclenum {run == 6376}

6084 6084.5 6085 6085.5 6086
cyclenum

36.5

37

37.5

38

38.5

4a
Y

_c
oi

l6

4aY_coil6:cyclenum {run == 6376}

6084 6084.5 6085 6085.5 6086
cyclenum

9−

8.5−

8−

7.5−

7−

4a
Y

_c
oi

l7

4aY_coil7:cyclenum {run == 6376}

6084 6084.5 6085 6085.5 6086
cyclenum

187

187.5

188

188.5

189

4e
Y

_c
oi

l4

4eY_coil4:cyclenum {run == 6376}

6084 6084.5 6085 6085.5 6086
cyclenum

26−

25.5−

25−

24.5−

24−

4e
Y

_c
oi

l6

4eY_coil6:cyclenum {run == 6376}

6084 6084.5 6085 6085.5 6086
cyclenum

7.5−

7−

6.5−

6−

5.5−4e
Y

_c
oi

l7

4eY_coil7:cyclenum {run == 6376}



6084 6084.5 6085 6085.5 6086
cyclenum

236−

235.5−

235−

234.5−

234−

12
X

_c
oi

l1

12X_coil1:cyclenum {run == 6376}

6084 6084.5 6085 6085.5 6086
cyclenum

83.8−

83.6−

83.4−

83.2−

83−

82.8−

82.6−

82.4−

82.2−

82−

81.8−

81.6−

12
X

_c
oi

l3

12X_coil3:cyclenum {run == 6376}

6084 6084.5 6085 6085.5 6086
cyclenum

6.5−

6−

5.5−

5−

4.5−

12
X

_c
oi

l4

12X_coil4:cyclenum {run == 6376}

6084 6084.5 6085 6085.5 6086
cyclenum

3.5

4

4.5

5

5.5

12
X

_c
oi

l6

12X_coil6:cyclenum {run == 6376}

6084 6084.5 6085 6085.5 6086
cyclenum

431.8−

431.6−

431.4−

431.2−

431−

430.8−

430.6−

430.4−

430.2−

430−

429.8−

429.6−

12
X

_c
oi

l7

12X_coil7:cyclenum {run == 6376}

6084 6084.5 6085 6085.5 6086
cyclenum

6374

6374.5

6375

6375.5

6376

6376.5

6377

6377.5

6378

ru
n

run:cyclenum {run == 6376}
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